
Examples of how to work out 50% of Tuition Fees 

 

1. Tuition Fees = £22,000.00 
50% required to complete enrolment = £11,000.00  
Less Tuition Deposit paid = £3,000.00  
Total to pay to complete enrolment = £8,000.00  
Remaining 50% to be paid by week one of Term 2 = £11,000.00 

 

2. Tuition Fees = £22,000.00  
Received discount/scholarship = £1,500.00   
Tuition Fees remaining to pay = £20,500.00  
50% tuition fees to pay to complete enrolment = £10,250.00 
Less Tuition Deposit paid = £3,000.00  
Total to pay to complete enrolment = £7,250.00 
Remaining 50% to be paid by week one of Term 2 = £10,250.00 
 

 


